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freaferRaa AT i aga @rae1 | Uiy 3R ITehT UTer Hifeg :

1. 39 Y97-97 4 38 I99 81 @t 37 3Tt 8l

2. Y¥9-97 gid @Sl § faifsd 8 - @ve @, @, T, 9997 g/

QUE & 4 Y97 G&A1 1 18 % Sglashedld a91 I97 §&41 19 T 20 39HIT Tq

d% TR 1 31 & J99 3

WS @ I J9 &A1 21 T 25 % 30 G-3RI (VSA) THR & 2 37H & I3 &

WUE T § Jv G&IAT 26 G 31 7% AY-3I70T (SA) IR & 3 371 & J97 81

TUe g 4 J97 §&41 32 § 35 a% qiH-3a09 (LA) THR & 5 37l & I3 3l

WUS T § ¥ GEIT 36 T 38 GId/ThI0T ShTS SATTRA 4 37l & I3 & 3aRF

forbeq 2 el & go7 4 faar w4 81

8. IH-97 § quy fasheq 78 faar wr 31 FEfy, @vs @ % 2 Y °, @S T % 2 JuHl
4, @ue g P 2 vl § d9T TUS € & 2 Hhl & 3 JvHI § SR fdheq T T8
fear T 21

9. TET AV &I, TS P S/ le HTETTH § al = 22/7 Wl

10. FTFciet HT I7AT Ffedfa 8|

w

NS A

WUE - &® 20x1 =20
I HEAT 1 | 20 Tk Sgiaehodta T § A Seieh T 1 37k T 2 |
1. qﬁsinA:%%,FﬁcosA‘cﬁrm%: 1
3 J5 1 1
@ 3 (b) 3 © 3 (d) Nl
2. 7 cm YR BSAT A1 WF H G5k gEE &ARA 550 cm’ 7| TF I ke
S B 1
(a) 25cm (b) 14cm (¢) 20cm (d) 24cm
3. m 98 aF ek T W@ 14x + my =20 a1 —3x+2y = 16 THR Z,
R 1
@ - B -1 © -2 @ -
4. aﬁa,ﬁagqa3x2+14x—5ésw%,aﬁ3(“a+ﬁl3jfmmq%: 1
@) ® L 9 -5 @ -2

=
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General Instructions :
Read the following instructions carefully and follow them :

1.
2.
3.

9.

This question paper contains 38 questions. All questions are compulsory.
Question paper is divided into FIVE sections — SECTION A, B, C, D and E.

In section A, question number 1 to 18 are multiple choice questions (MCQs)
and question number 19 and 20 are Assertion — Reason based questions of
1 mark each.

In section B, question number 21 to 25 are very short answer (VSA) type
questions of 2 marks each.

In section C, question number 26 to 31 are short answer (SA) type questions
carrying 3 marks each.

In section D, question number 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In section E, question number 36 to 38 are case—based integrated units of
assessment questions carrying 4 marks each. Internal choice is provided in
2 marks question in each case studly.

There is no overall choice. However, an internal choice has been provided in 2
questions in Section B, 2 questions in Section C, 2 questions in Section D and 3
questions of 2 marks in Section E.

Draw neat figures wherever required. Take m = 22/7 wherever required if not
stated.

10. Use of calculators is NOT allowed.
SECTION - A 20x1 =20
Question Nos. 1 to 20 are multiple choice questions of 1 mark each.
1. Ifsin A= %, then cos A is equal to : 1
3 5 1 1
@ =5 (b) == © 3 (d) Nl
2. The curved surface area of a cone with base radius 7 cm, is 550 cm?. The
slant height of the cone is : 1
(a) 25cm (b) 14cm (¢) 20cm (d) 24cm
3.  The value of m for which lines 14x+ my =20and —3x+2y =16 are
parallel, is : 1
3 7 28 3
@ -1 b) -3 © -3 d) -3¢
4. If a, P are zeroes of the polynomial 3x? +14x — 5, then the value of
a+p) .
3( b ) 1S : 1
14 42 14 42
@ = b) —+ © -3 d -=
430/4/3 A 3|Page @ PTO.



5. PQ @ PR, ST 3 cm @1 %5 O o, I W Q
Wit TRt 2 Tl R §| Al gedsh el e

TS 4 cm 2 a1 st OQP &1 ufwmy g - O
(a) Scm (b) 12cm
(¢) 9cm (d) 8cm R

6. @ I&I1e k1 LCM 3600 21 71 § 9 Si9-H) w1 s9e HCF 931 &
Hehdll 7
@) 600 (b) 400 © 500 d 150

7. oGl (- 6,9) M2, ) A H ghH 2 -
a) 2417 (b) 417 ) 25 d) 2415

8. dfC secO—tanO =2 ®, @l sech + tanOh AN 7 :
(@ 2 ® 2 © @ 2

9. i foeenl o1 Uk WY IDTAT AT 7| TR W1k Tk Tk weh T
W(T)m’%

@ 2 ®) 2 © 1 @ 1

10. <EUg p(x)=kx2—9x+3aﬂQEFW(—%) HEEIR R

@ % -2 @ ¥ @ -2
11. 99H A aTel & TG e i SHarsdl i ST 1:2 71 39k frsane

T I @ -

a) ~2:1 (b) 1:2 c) 1:4 d 1:42
12. =fe J2sin0 =1 2, dl cotO x cosecO T 7 :

1 1 1

@ 5 ® = © 2 & 3
13. A ABC# PQ || BC & fean mrn @ A

% AP =2.4 cm, PB = 3.6 cm 99T P/\Q

BC = 5.4 cm 81 PQ 3! il 2 : /

(a) 2.7cm (b) 1.8cm B C

(c) 3.6cm (d) 2.16cm
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10.

11.

12.

13.

PQ and PR are tangents to the circle

of radius 3 cm and centre O. If 3

length of each tangent is 4 cm, then 0 b
perimeter of A OQP is :

(@) Scm (b) 12cm =

(c) 9cm (d) 8cm

The LCM of two numbers is 3600. Which of the following can not be
their HCF ?
(a) 600 (b) 400 (c) 500 (d) 150

The distance between the points (— 6, 9) and (2, 7) is :

@) 2417 (b) 417 @ 25 d 2J15

If secO —tanO = 2,then secO + tan0 is equal to :

1 1
a) = b) 2 c) —F— d 2
@ 5 (b) © 7 (@)
Three coins are tossed together. The probability that only one coin shows
tail, 1s :
1 3 7
@ - ®) 3 © 3 (d) 1

One of the zeroes of the polynomial p(x)=kx?>—-9x+3 is (— %) The

value of k 1s :

@ 2 ® -2 o ¥ @ -2

Two right circular cylinders of equal volumes have their heights in the
ratio 1:2. The ratio of their radii is :

(a) ~2:1 (b) 1:2 (c) 1:4 @ 1:2
If \/25in0 =1, then cot O x cosecOis equal to :
1 1 1
a) — b) —= ) 2 d =
(a) NG (b) ;) (c) d 3
In A ABC, PQ || BC. It is given that A
AP = 24 cm, PB = 3.6 cm and o /N0
BC=5.4cm. PQisequal to:
(a) 2.7cm (b) 1.8cm B C

(c) 3.6cm (d) 2.16cm
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14.

PA @1 PB , o5 O a1t ga W Eist
T g Tt W 2| e LAOB =105°

2 LOAP + ZAPB #T HF ¥ : 1
(a) 75° (b) 175°
(c) 180° (d) 165°
15. TF AP.Wa, —a, ,=32 2| 39 HEAN § - 1
(a) —38 (b) 8 (c) 4n (d) 4
16. 7 cm 3 a0l 990 o Tk =gisn 1 IRAM 7 1
(a) 18 cm (b) Ilcm (c) 22cm (d) 25cm
17. 52 Ui aeh T8t THR ¥ B T awi A T H H TR G Agesdl
frepren | gEhT wfehdr fob ferel T T W 3ifeRd e 90 R, R 1
1 4 1 1
(a) 26 (b) iE (c) 5 (d 3
18. AP.:10V2,642,2/2,.... %1 2091 72 2 : 1
(a) —76+1042 (b) —6242  (c) —-66J2  (d) 862
fdwr :
T GEAT 19 3R 20 AR T aeh omatiRa U= ¢1 9t e feu wu R
Teh hl AATHHAT (A) AT TR Y Tk (R) gRT Sifeha foram am 21 37 wwat & ot
I = T3 TE ST (a), (b), (¢) 3R (d) 7 & R i :
(a) AfFeE (A) 3R T (R) GHI |l & AR T (R), AR (A) hl Tl
ST T 2
(b) 3fkeM (A) 3R @ (R) a1 W&l &, W d (R), AHFA (A) FH Tl
S| T LT 2l
(c) 3fikeM (A) H& 7, T T (R) Tod 2
(d) IR (A) T 2, Wg % (R) HE 2
19. ARTRAT (A) : Uk her qher # faenfeiai o e yredieh 16 21 sHehr e
2 3Teft heTT o AT 16 © HA &
Tk (R) : Hreges R oawor i g e’ WET H diedt 7 1
20. 3TfTeReE (A) : aﬁmE%a&a@ﬁaﬁqﬁwp@):ﬁé,
@ P(E)=0.001 gl
Tk (R) : P(E) + P(E) =1 1
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14. PA and PB are tangents to a circle

with centre O.

If ZAOB=105° S
then ZOAP + ZAPBis equal to : Me) b 1
(a) 75° (b)y 175°
B

() 180° (d) 165°

15. InanA.P, a,—a, , =32. Its common difference is : 1
(a) -8 (b) 8 (c) 4n (d 4

16. The perimeter of a quadrant of a circle of radius 7 cm, is : 1
(a) 18 cm (b) Ilcm (c) 22cm (d) 25cm

17. A card is drawn at random from a well shuffled deck of 52 playing cards.
The probability that drawn card shows number ‘9’ is : 1

1 4 1 1

(a) 26 (b) 13 (c) ) (d) 13

18. The 20" term of the A.P. : 102, 64/2, 24/2.... is : 1

(a) —76+1042 (b) —6242  (c) —-66J2  (d) 862

Directions :

Question numbers 19 and 20 are Assertion and Reason based questions.
Two statements are given, one labelled as Assertion (A) and the other is
labelled as Reason (R). Select the correct answer to these questions from the
codes (a), (b), (¢c) and (d) as given below :

(a) Both, Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(b) Both, Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) :
Reason (R) :

20. Assertion (A):

Reason (R) :

Median marks of students in a class test is 16. It means
half of the class got marks less than 16.

Median divides the distribution in two equal parts. 1
: 1

If E is an event such that P(E) = 999°

then P(E) = 0.001.

P(E)+P(E) =1 1
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us - 9
T TEAT 21 | 25 Tk AT AG—3IW a7 T &, NH Tedeh 2 3T HT1 8 |
21. (A) Toag HI o forell amer forg @ forell 9@ o Eii= 15 ©awi T@sti o o=
1 R0 TR o3l I A AT WES gR g W IAANT HI0T H

T B 2
srqar
B) fag A & 5 gm0 & FoFeh = &’/ w &= oot e
gL grdl 2|

22. fomgati (2, —5) @ (5, 3) %l SIS ATcl {@RATE i x-31& T HiTad @ 8
T et 21 9 STgUTd qof x-318 W Wiaesal fowg o e Frd i |

23. s fop forell WTehd @@ » o Told E&T 45" 379 0 R @HTd @l @l Hehdl|
I AYST T&AT ‘¢’ 1 I qa1sd 8 45" & o0 i T R, 36 0 W
T 7|

24. TaFR w@dE ABCD % fosol BD i D C
W@rEvg AE, 1:2 31q9rd # fawrfora s
21 3¢ BE=1.8 cm ® @ AD &l &g
iR A B

25. (A) TF fHek W ofd W foe® W™ Im
AATRR &F H Agesdr ®9 I fwmEn
ST B gHRl T WieRar B R 9@ Q
et 0.7 m B et g # firam ?

T
(B) T U I g IR ekl TAT| ST T TRkt 7 b (1) g gTed awned
o Sl =T 37T 3 B (i) & ITed SISt b1 A 8 &

2m

@ug - T

9 TEAT 26 ¥ 31 Tk -3 a1t U9 &, ToH o 3 i w1 2 |

26. Tag FIR TF 39 < 910 oH gy I - I G h5 W TYh
I AN Fedt B
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SECTION - B
Question Nos. 21 to 25 are very short answer questions of 2 marks each.

21. (A) Prove that the angle between the two tangents drawn from an external
point to a circle is supplementary to the angle subtended by the line

segment joining the points of contact at the centre. 2
OR
(B) Prove that the tangents drawn at the ends of a diameter of a circle are
parallel. 2

22. Find the ratio in which the segment joining the points (2, —5) and (5, 3) is

divided by x-axis. Also, find coordinates of the point on x-axis. 2

23. Show that 45" can not end with the digit 0, # being a natural number. Write
the prime number ‘a’ which on multiplying with 45" makes the product end

with the digit 0. 2
D C

24. The diagonal BD of parallelogram
ABCD is divided by segment AE in the

ratio 1:2. If BE = 1.8 cm, find the 0 E
length of AD. 2
Al B
25. (A) A coin is dropped at random on the 3Im
rectangular region shown in the
figure. What is the probability that Q 2m
it will land inside the circle with
radius 0.7 m ? 2
OR

(B) A die is thrown twice. What is the probability that (i) difference
between two numbers obtained is 3 ? (ii) sum of the numbers obtained
1s87? 2
SECTION - C
Question Nos. 26 to 31 are short answer questions of 3 marks each.

26. Prove that the opposite sides of a quadrilateral circumscribing a circle
subtend supplementary angles at the centre of the circle. 3

430/4/3 A 9|Page @ PTO.



27. (A) 3R f9g A(- 5, y), B2, — 2), C(8, 4) @1 D(x, 5) T THIX aqHS
ABCD & 3 gt 0 @ &, o x 3R y &1 AF J1a HIioR| 30 au=R
IqY <t Tl i TR T i
3AAAT
(B) /g A(6, - 3), B(0, 5) @ C(— 2, 1) AABC & 3N foig 21 foig P(3, 1)
aur fomg Q(2, — 1) AN {3 AB a1 AC W oo 21 S iR 6
AP_AQ )
PB  QC
28. WEYE p(x) = 9x% — 6x —35 % Y[F T hISFA qAT $Heh UM T IAhI
e & TEY  goTud it |

29. fiag FIR 5 V2 = sufew g 2

30. (A) THT=R Avft 7, 10%,14, ..... 84 =1 AN F1q I |
3AAAT
(B) afe fFE A.P. % Yo 1 91 &1 AN Sn:§(2n+8)§Fﬁ3‘v‘|€HSrWTc{
AT AR T1d hIS | 39 IT=Tq 1591 9 1 hif |

31. 14 cm Frsen ot g9 6 Sflan g
W 90° H IV INANG FA B
BATTRd AT T IHATT Td IR |
(N2 =1.41 <hfs)

Qs - ¥
9 TEAT 32 | 35 Tk GrH—IT ATel A9 §, T8 Tk 5 SR 1 ¢ |
32. 9qfH % TH forg |, 300 m 9 TR o REX &1 398 0 30° 2| TH 0 T
T g4T I T T (hot air balloon) 2Tt & dfeh U & TSRAT 7| 3t I
T i o 3T g | e T 3AIH T 60° 21 Y F TR T ST q
ftr % formg @ et 1 gl 7 AR (V3 = 1.73 i)
33. (A) 3R forel Fys =1 T Yo o WA= 31 & Yol ol e forgan w
yfeg i & o w W | 9@ q@ fag i 6 3 o= @ e
T & U # frtsia & St )

EEE
!E
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27. (A) Ifpoints A(-5,y), B(2,-2), C(8, 4) and D(x, 5) taken in order, form a

parallelogram ABCD, then find the values of x and y. Hence, find
lengths of sides of the parallelogram. 3
OR
(B) A(6, —3), B(0, 5) and C(— 2, 1) are vertices of AABC. Points P(3, 1)
and Q(2, — 1) lie on sides AB and AC respectively. Check whether

AP _AQ 3
PB QC°
28. Find the zeroes of the polynomial p(x)=9x>—6x—35 and verify the
relationship between zeroes and its coefficients. 3
29. Prove that /2 is an irrational number. 3
30. (A) Find the sum of the A.P. 7, 101, 14, ... 84. 3
OR
(B) If the sum of first » terms of an A.P. is given by S, :§(2n+8).
Then, find its first term and common difference. Hence, find its 15™
term. 3
31. A chord of a circle of radius 14 cm
subtends an angle of 90° at the
centre. Find perimeter of shaded
region. (Use J2 =1.41) 3
SECTION-D
Question Nos. 32 to 35 are long answer questions of 5 marks each.
32. The angle of elevation of the top of a tower, 300 m high, from a point on
the ground is observed as 30°. At an instant a hot air balloon passes
vertically above the tower and at that instant its angle of elevation from
same point on the ground is 60°. Find height of the balloon from the ground
and distance of tower from point of observation. (Use V3= 1.73) 5
33. (A) If aline is drawn parallel to one side of a triangle to intersect the other
two sides in distinct points then prove that the other two sides are
divided in the same ratio. 5
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3AAAT
(B) AABC ! g3l AB @2 AC W AT fog P q91 Q 39 Yo feord & ok

PQ || BC 31 fg iR fok wifedert AD 1 T fog A § 9T BC W @i
Tt B, [WrEs PQ & THigyTid st 2

34. (A) T & 6 p2a? + (p? —¢*)x—¢* = 0;(p = 0)

(i) e=isy T Ik wefiertor =1 fafeaaemt (D) Tk qof =t 3
(i) TR o qo F1d Il |
3TUAT
(B) @ SUTTA &TcHeh qUTTsh 38 YR & foh Te™ SIS qUTish a1 a7 Td STehl

g % TOHRA oh1 AWM 67 71 fgema aieor H ggrar | diFi qoiies

ENSel
35. T siiwsi &1 WA’ qu1 SEash [ ehi
T 20-25 | 25-30 | 30-35 | 35-40 | 40-45 | 45-50
TRERAT 9 8 11 13 4 5

@uE -8
9 TEAT 36 @ 38 Tk TRIUT STYUTRA U &, T Tk 4 37 1 2 |

36. gl % A (Ball Pool) H Wl =i % fol
TR Sl ST T899 2| GeHT 5 310 o= &
0 4@ & w3 % & 7 em =@ 9l 600 g
Tl 600 Tic TEH 9Tl B9 THR & fesat i
famm 42 cm x 91 cm x 50 em (I % b % h) B
W YT o MR R F=fafad g & 3@
i
(i) T Tg 1 A T1d I
(i) 10 &l = =l T & T foram| T g8 1 e i AR
(i) (a) T T 3uctsy fixh TAW 1 AT T iR

AYAT
(iii) (b) TG I TEH FrEcl dq8 W iC W g3 99H €9 ° Wi T d S
fosd & QU MUR & 1 T ol B (A) Th Te gR ATesIed
(covered) & T &ABA Hehlictd| (B) T8 et ddqg X foha
g E?

=
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OR
(B) Ina A ABC, P and Q are points on AB and AC respectively such that
PQ || BC. Prove that the median AD, drawn from A to BC, bisects PQ. 5

34. (A) Itis given that p?x> +(p?> —g*)x—g>=0; (p#0)

(1) Show that the discriminant (D) of above equation is a perfect
square.
(i) Find the roots of the equation. 5
OR
(B) Three consecutive positive integers are such that the sum of the square

of smallest and product of other two is 67. Find the numbers, using

quadratic equation. 5
35. Find ‘mean’ and ‘mode’ of the following data : 5
Class 20-25 | 25-30 | 30-35 | 35-40 | 40-45 | 45-50
Frequency 9 8 11 13 4 5
SECTION - E

Question Nos. 36 to 38 are case-based questions of 4 marks each.

36. Playing in a ball pool is good
entertainment for kids. Suhana bought
600 new balls of diameter 7 cm to fill
in the pool for her kids. The cuboidal
box containing 600 balls has dimensions
42 cm % 91 cm % 50 cm (I x b xh).

Based on above information, answer the

following questions : et
(1) Find the volume of one ball. 1

(i1) 10 balls are painted with neon colours. Determine the area of painted
surface.
(i) (a) Find the volume of empty space in the box. 2

OR
(111) (b) The lowermost layer of the balls covers the base of the box edge
to edge when balls are placed evenly adjacent to each other.
(A) How much area is covered by one ball? (B) How many balls
are there in lowermost layer? 2
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37. @MW du 9EW T qd 7 N
yftrge T gE 9 @ gU 2| W
% d9S A SAEwE YA h A1
yfirge 1 smftad o)
Ig 0@ TR T fop W fgsta
&9 ABC & fam-frm arn A
TEIRAT Q1 W 91 AF, FE @en
BE % fohm-fRaR ar e 53.58m
INW H WHYEER gy 3R
Frafafaa gw & s At - F AF = 53.58m
(N2 =1.417e /3 =1.73 =hfs)
(i) Yo BC i =8 71d i |
(i) Y AG i T8 T1d Il |
(iii) (a) T ABC =1 afmm a Hifsm
JAAAT
(iii) (b) (AF + FE + EB) & oi&I1$ T1a shifoid|
38. UH chimgfeheE &Il Ud UEehl % Tl @
FSMETE - FISHT A T9T JiST B Tt 2 |
AT AT i Rges THRT gRT 9 ST Fehal 4
21 T ¢ wlie W wy (e §) o qen ‘¢ 3Eeht \
FiAd gl 2| TR 7 JeR 3 2 - ;
AT A ¢ 3C =201
AT B : 3C =107+ 300
SHIh FoT o MER W Fferfad wei o 3w 4 -
(i) Ffe 319 IS B o & a1 S1aen fera) stfires uftn o anfi ?
(i) =& 7 A A @lE 38 T 250 H foha e w@lig ?
(iii) (a) fToraw fire @lied W, gHT AT & dgd, TaE TRT S anft? a8

60°

T fopaft grft e
YA
(i) (b) =HHE-F AT dER 7, Al 39 60 e @leT =med 27 e
EiilEe

=
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37. Rahim and Nadeem are two

38.

friends whose plots are
adjacent to each other. Rahim’s
son made a drawing of the plots
with necessary details.

It is decided that Rahim will
fence the triangular plot ABC
and Nadeem will fence along
the sides AF, FE and BE.
Observe the diagram carefully
and answer the following
questions :

(Use +/2 =1.41 and /3 = 1.73)
(i) Find length BC.
(i1) Find length AG.

459

H 40m

A 1
45° T S 40m—>1<J
(=

BH =40m

38m
53.58m E HD=10m
DG =40m
GF =38m
F FE =53m
AF =53.58m

(ii1)) (a) Calculate perimeter of AABC.

OR

(i1i1) (b) Calculate length of (AF + FE + EB).

A telecommunication company came up with
two plans— plan A and plan B for its customers.
The plans are represented by linear equations
where ‘¢ represents the time (in minutes)
bought and ‘C’ represents the cost. The

equations are :
Plan A : 3C=20¢
Plan B: 3C =107+ 300

Based on above information, answer the following questions :
(1) If you purchase plan B, how much initial amount you have to

pay ?

(i1) Charu purchased plan A. How many minutes she bought for I 250 ?

(i) (a) At how many minutes, do both the plans charge the same
amount? What is that amount?

OR

(111)) (b) Which plan is better if you want to buy 60 minutes? Give reason

for your answer.
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